N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F : © F 2 3 j . 4}
& [ . g [ g [ . . g
5 10°F G- 5 = 10°F- : - £
E . [ [ E - . Q
3 : 2 s f : g
10° g
E . . 3 F =]
Eo. H F F S
10°F -+ ; 10°F E
10° - 10°F L. ;
W ' £ : :
F ' i : i :
10 ' 1= H
E. 1 1 1 1 1 1 1 1 1 1 1 1 1 1 E, 1 1 1 1 1 1 1
o v HE— BYM_berorePr
T : : DQM_correctCheck
24 0 0 0 T T T v
-------------- 3 I
0'—?0 -15-10 -5 0 5 10 15 20 0'—20 -15-10 -5 0 5 10 15 20 0'—?0 -15-10 -5 0 5 10 15 20 0'—20 15 10 —5 0 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L2 2
g . g g
S o5k 8 g
£ 10°F < 10° @
F X =
2 f s 8
10°F £
E 10° 3
10°F
E 10
10%F
: 10f----7 : AR K 11
: b 1 | : R
g+ 9 - 2
| Il illlm ||||||| g | ||E|||| | 11— | |||| illlll | |||||| g
14 o4 14
0. 0.95! 9! . 0.95! L H
%O -20 —10 0 10 20 NO =30 —20 -10 20 30 O 20 20 30 =30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


